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Today ! Concrete examples of Markov chains

and
mixing times , esp .
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⇐ W

- Metropolis algorithm -
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Markov matrices ( chairs)
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P has a unique stationary distribution!
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⑨ P is symmetric Wrt the

"

appropriately
"

weighted inner product

( notion of self-adjoint matrices ,

Rayleigh quotients, . - ]

③ You can get new Markov chains

from P that have any stationary

distribution you want on the same

underlying digraph ,
in a "purelykca

fashion
- - - Metropolis fetal .) algorithm{ simulated annealing
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Defy If P is Markov matrix

and 020<1
,
the E-key
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Take
any graph !
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How about !
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